Beginners’ Lesson 6:

Responder's Rebids

NZBridge

Board 1 o K875 Board 5 4 AQJ65
North Deals ¥ K5 North Deals ¥ K853 North has shown at least
None Vul ¢ 853 South rebids 1 NT (15-17) | N-S Vul ¢ AJG6 5 spades and 4 hearts.
& A1065 and North bids to game &2 South has a weak hand
4 1096 N 4 Q42 with 10 HCP. 4 943 N & K82 (6-9) and with a better fit
vJ92 w2 vy Q10643 vJ1072 w2 vy Q64 in spades, gives
¢ 642 5 ¢ Q97 The # K lead is the top of ¢ K54 = ¢ 1098 preference at the lowest
& KQJ2 & 94 a sequence. & AK9 & Q1085 possible level.
& AJ3 s 107
v A87 Declarer wins in the North v A9 The small # lead promises
¢ AKJ10 hand then plays a small ¢ Q732 an honour.
& 873 diamond towards South's & J7643
West North East South AKJ hoping the Q¢ isin West North East South Declarer should ruff a
Pass Pass 1le¢ East's hand. le Pass 1INT heart before drawing
Pass le Pass INT Pass 2v Pass 24 trumps.
Pass 3NT All pass Lead: # 5
Board 2 o Q9742 Board 6 4 9876
EastDeals v 82 EastDeals v 96
N-S Vul ¢ K95 West responds 1 v, their E-W Vul ¢ AQJ10 When East rebids 2 #, they
& Q42 lowest ranking 4-card suit. & A53 are now showing at least
& K1083 N & A5 East with heart supportand | ¢ KJ432 N « AQ 5 hearts and 4 clubs, so
vy Q653 W E vy KJ109 16 HCP jumpsto 3 ¥ to v AK5 w2 v QJ1072 Westcannowbid4v.
¢ AJS8 ¢ 72 invite game. With 10 HCP, |¢ 742 ¢ 98
908 = & AKJ105 West accepts the invitation. | & Q J = & K742 Lead: # 10 - top of a
s J6 s 105 sequence
vA74 Lead of the 2 & is v 843
¢ Q10643 promising an honour. ¢ K653 Declarer can discard a
& 763 # 10986 loser by playing # A and
West North East South Declarer draws trumps West North East South overtaking the & Q with
1l Pass then sets up clubs (their lv Pass the # K. The # Jis now
1lv Pass 3v Pass next longest suit). le Pass 2% Pass good.
49 All pass 49 All pass
Board 3 o KJ7543 Board 7 & K832
South Deals v 7 South Deals v 742
E-W Vul ¢ 952 South rebids 2 NT (18-19 Both Vul ¢ J1092 West's rebid shows
& K54 and a balanced hand). & J6 5+ hearts. East can invite
49 N 4 Q102 North knowing thereisnow |4 104 o A976 to game with 3 hearts
v K52 W E v J9864 aspadefit, bids 4 . vy AQ10963 W E v KJ5 (10-12 HCP) and West
¢ QJ10o3 = ¢ 86 ¢+ Q86 = ¢ K7 now bids to game.
98762 & AJ3 The small heart lead & AK #8754
o AB6 promises an honour. & QJ5 Lead: ¢ J-top of a
vy AQ103 v 38 sequence.
¢ AK74 Declarer should play two ¢ A543
& Q10 rounds of clubs and ruff a & Q10932 Declarer must ruff a
West North East South club in dummy before West North East South small diamond in dummy
1le¢ drawing trumps. Pass before drawing trumps.
Pass le Pass 2NT 1lv Pass le Pass
Pass 44 All pass 2v Pass 3v Pass
Lead: v 4 4v All pass
Board 4 «J72 Board 8 & K5
WestDeals v Q84 West's 2 & bid shows a WestDeals v K8732 South has no fit with
Both Vul ¢ Q6532 minimum hand. East must | None Vul ¢+ Q9 partner's suits but enough
& A8 jump in hearts to force & AQ103 for game.with 13 HCP.
4 K64 N & AQ 1085 partnerto bid again and « Q1042 N & 763 3 NT promises a hold in
v w2 AJ72 choose the best game. v 64 w cIM A 1095 the unbid diamond suit.
¢ KJ7 ¢ A ¢ 32 ¢ KJ765
& KQ9543 = & 762 Lead: ¢ 10 - top of a & K7652 = & 4 There is no need for South
493 sequence. & AJOS8 tobid2¢ or3e.
v K10653 v QJ
¢ 10984 After winning the diamond ¢ A1084 Lead: # - longest suit and
& J10 lead, Declarer should play & JO8 promising an honour
West North East South ¥ Athen ruff a heart in West North East South
1l Pass le Pass dummy. Now play the ¢ K | Pass lv Pass le Declarer should play low
2% Pass 3v Pass discarding a heart before Pass 2% Pass 3NT from dummy and should
44 All pass drawing trumps. All pass aim to knock out the v A.
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